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% 1 BRET | et | BAEAERS| VEVEST | SESTE | EUT |EERT| KR | BT | BEE (et
FOLEEE 26 30 10 34 15 28 30 33 41 31 32
NE A7 9 6 11 2 10 8 6 3 1 5 4
-
& R 0 2.5 0 7 0 1 2.5 6 8 4 5
35}
SR 1 1 1 1 1 1 1 1 1 1 1
B Rt 1 3.5 1 8 1 2 3.5 7 9 5 6
SR 43 36 19 28 33 41 30 37 51 29 27
[NV 2 5 11 9 6 3 7 4 1 8 10
blin
(CI St 7 4 0 0 3 6 2 5 8 1 0
5]
SN 1 1 1 1 1 1 1 1 1 1 1
=% 8 5 1 1 4 7 3 6 9 2 1
AR 9.0 8.5 2.0 9.0 5.0 9.0 6.5 13.0 18.0 7.0 7.0
JIE {ir 3 6 11 3 10 3 9 2 1 7 7
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FOLERE 5 2 3 13 3 8 6 15 13 6
NE A7 7 10 8 3 8 4 5 1 2 5
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ZHR 1 1 1 1 1 1 1 1 1 1
B Rt 3 1 1.5 7 1.5 6 4.5 9 8 4.5
SR 9 14 8 12 4 7 12 8 8 7
[/ Riva 4 1 5 2 10 8 3 5 5 8
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(CI St 5 8 3 7 0 0.5 6 3 3 0.5
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SN 1 1 1 1 1 1 1 1 1 1
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